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<fl> (6x +3y)+(@2x —5y)
= 6x+3y +2x—by
= 8x —2y
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6x +3y

+) 2x —by
8x —2y

[1] ROKDOHFEEZ LSV,
(1) (2a—5b)+(7a+3b)

(3) (4a+3ab—8b)+(7ab—a—2b)

[2] ROZFHOKXDOFNZERD 72 E W,
(1) 5x—9y—3, 4x+2y—3

(3) —3a2+9b2—2ab, —b2+2ab—a?

(5) 1.8y2+xy—0.2x2, xy—1.2x2—0.6y2

(2)

(4)

(2)

(4)

(6)

(x—4y+2)+(—6x—y+3)

(—az—9a+3)+(Qa—a2—"7)
6ab—a-+4b,

3a—5b—8ab

x2—bH—4xy,  8x2+4xy—2

1 3 1 1 1
—a?—ab+ =b?, —a%?+ —ab — =b?
3 4 4 2 2
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[1] [1]
(1) 9a—2b (1) HA=2a—5b+7a+3b=9a—2b
(2) —bx—by+5 (2) HxX=x—4y+2—6x—y+3=—5x—5y+5
3) 3x—dy (3) 43t=4a+3ab—8b+7ab—a—2b=3a-+10ab—10b
(4) 3a+10ab—10b (4) HA=-a2—9a+3+9a—a2—7=—2a2—4
(5) —2a2—4
[2]
(2] 1  (Gx—9y—3)+Ux+2y—3)
(1) 9x—7y+1 =5x—9y—3+4x+2y—3
=9x—Ty+1
(2) —2ab+2a—b (2)  (6ab—a-+4b)+(3a—5b—8ab)
=6ab—a+4b+3a—5b—8ab
=—2ab+2a—b
(8) —4a2+8b2 (3) (—3az+9b2—2ab)+(—b2+2ab—a?)
=—3a2+9b2—2ab—b2+2ab—a2
= —44a2+ 8b2
(4) 9x2—7 (4)  (x2—5—4xy)+(8x2+4xy—2)

=x2—5—4xy+8x2+4xy—2
=9x2—7

(5)  (1.8y2+xy—0.2x2) + (xy—1.2x2—0.6y2)
=1.8y2+xy—0.2x2+xy—1.2x2—0.6y2
=1.2y2+2xy—0.8x2

(B)  1.2y2+2xy—0.8x2

—a*—ab+— —a*+—ab——
. . © (sa?—ab+Sb?)+ (a2t ab——b?
(6) —a?’——ab+ —b?
12 2 4
1 3,1, 1 1
= —a’?—ab+ b+ —a2+ —ab — —b?
3 45 45 27 2
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7 1 1
=—a?— —ab+ —b?
12 2 4




